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Anra Opranrsl TON = = Epecek Ton = Typai xac Ton = =
KYH/aepi «bananan» = E «Kb13raiak» 2 E «AlHaIaHbIH» 2 E
(3xacrarbl Gananap) | B 2 (4xactarpl 6ajanap) | B 2 (4xkacrarbl 6ananap) | B =
£ E S (5 acTarbl N N-i-
= = asanap) Q=
Jlyiicen6i Xopeorpagus 16:00-
«lHaakbimar» 16:30
I-1V anTa
Ceiicen6i [1IpirapmanmbIbIK 15:30-16:00
OeNICeHTTIK
«CHKBIPJIBI 3/1€M»
Coapcendi [1Ip1rapmalblIbIK 15:30-16:00
OenceH LK
«CHKBIPJIBI 3J1€M»
I-1V anTa
Beiicenoi 1IpIFapMaIbLIbIK 15:30- Xopeorpadus 16:00-16:30
OenceHauTiK 16:00 «lllankbiMa»
«CHKBIPJIBI d71eM» I-1V anra
I-1V anTa
Kyma
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